
Warning: When handling a firearm, always follow the proper handling procedures at all times.  Failure to follow these procedures could result in serious damage, injury, or death. We 
are not responsible for damage to property, injury, or death resulting from improper installation, misuse or modification of products. If you are not comfortable completing any of the 
following steps, or do not have the proper tools enlist the help of your local gunsmith.  We are not responsible for components that are damaged due to improper installation. 

LIMITED LIFE TIME WARRANTY LIMITED LIFE TIME WARRANTY

Mossberg, Remington, Winchester, Savage, &                                
Tristar 12 Gauge Shotgun Rear Pistol Grip

HARDWARE INCLUDED

TOOLS NEEDED

[1]  1/4 - 28 x 1 1/4” Socket Head Cap Screw
[1]  M8 - 1.25 x 50 Socket Head Cap Screw
[1]  5/16 - 18 x 1” Machine Screw
[2]  6 x 48/2 x 1/2 Phillips Head Screw
[1]  8-32 x 1/2” Flat Head Socket Cap Screw

[1]  #12 Flat Washer

Flat Head Screwdriver Phillips Head Screwdriver Allen Set

1

2

3 6

5

4
Begin by removing the 
existing recoil pad from 
your stock using a phillps 
head screwdriver. Next 
using a long flat head 
screwdriver or the 
appropriate socket with 
extension remove the 
stock bolt from the inside 
of the opening in the rear 
of the stock as seen in 
Figure 1.

Slide the backstrap off of 
the pistol grip as seen in 
Figure 2.

Select the appropriate 
adapter and screw for your 
shotgun as seen in Figure 
3.  NOTE: For the 887 use 
the 1/4-28 x 1 1/4” screw 
and # 12 washer and for 
the 870 use the 1/4-28 x 2” 
screw and # 12 washer.  
For the Mossberg use the 
5/16-18 x 1” screw and for 
the SXP, 320 and Tristar 
use the M8-1.25x50mm 
Socket Heasd Cap Screw.

Using the appropriate 
adapter for your shotgun, 
place into the pistol grip  
and using a phillips head 
screw driver, install and 
tighten the provided 6 x 
48/2 x 1/2” Plastite Phillips 
Flat Head screw as seen 
in Figure 4.

To install the trigger pad 
begin by removing the 
yellow side of the adhesive 
strip as seen in Figure 5.

Place the adhesive strip 
(with the adhesive side 
down) onto the pistol grip 
and then remove the white 
strip by pulling up.  Next 
attach the foam padding to 
the adhesive with the 
thicker part of the foam 
pad in the vertical portion 
of the pistol grip channel 
as seen in Figure 6.

                                            
                                         PRODUCT INSTALLATION GUIDE

320 Moss Tristar

887

Tristar

870 SXP

70.0947.01



LIMITED LIFE TIME WARRANTY LIMITED LIFE TIME WARRANTY

7

8

9 6

3

Place the pistol grip flush 
against the receiver and 
using the appropriate bolt 
and allen driver tighten the 
pistol grip to the receiver 
as seen in Figure 7.

Install the QD mount into 
the rear of the pistol grip 
making sure the hole at 
the bottom of the QD 
mount lines up with the 
hole in the bottom of the 
pistol grip as seen in 
Figure 8.

Flip the shotgun over and 
using a 3/32 allen head 
driver and the provided 
8-32 x 1/2 Flat Head Cap 
screw, tighten  the QD 
mount to the pistol grip as 
seen in Figure 9.

Mossberg, Remington, Winchester, Savage, &                                
Tristar 12 Gauge Shotgun Rear Pistol Grip

PAGE 2

                                            
                                         PRODUCT INSTALLATION GUIDE

Slide the backstrap onto 
the pistol grip as seen in 
Figure 10. 

10

5

Using a Phillips Head 
Screwdriver and the 
provided 6 x48/2 x 1/2 
Plastite Phillips Head 
Screw tighten the backstrap 
as seen in Figure 11.

11


